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Model (1)

Choose the correct answer:

1- Look! This (is- are) Baby Bear.

2- He is (hungry-sad), he wants food.

3- 1 don’t want tea, it’s very (hot- sorry).

4- (This- These) is my food.

5- Goldilocks and the Bears are (happy- sad).
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Model (2)

Choose the correct answer:

. We aren’t sad, we are (happy- hungry).
. It’s (a-an) Daddy Bear.

. (This is —=These are) three bears.

. (Who-How) is this? This is Goldilocks

. It (is-are) our food.
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Model (3)

Choose the correct answer:

1- He (is-are) happy.

2- What are (this- these)?

3- He is hungry, he wants some (water- food).

4- The three bears are (happy- sad) family.

5- ’m ( sorry- cold), I will not do that again.
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